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o Please check that this question paper contains 8 printed pages.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 88 questions.
e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.
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This question paper contains 33 questions out of which the candidate
needs to attempt only 25 questions.

Question paper is divided into two sections.

SECTION A

Multiple choice questions / Fill in the blanks/Direct questions :
contains total 12 questions of 1 mark each. Answer
any 10 questions.

Very short answer type questions : contains total 7 questions of
2 marks each. Answer any 5 questions.

Short answer type questions : contains total 7 questions of 3 marks
each. Answer any 5 questions.

SECTION B

Long answer |/ Essay type questions : contains total 7 questions of 5 marks
each. Answer any 5 questions.
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SECTION A
PART I

Hiayagfomeda a

Direct/Multiple Choice Questions

fordi ==yl & I AN | 1x10=10

Attempt any ten questions.
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‘Gorel Hel AR i giATST ST | 1

Define ‘Gross Total Income’.

arq 80 @, 80 T, @ 80 HAE. (1) F Fwla AferaH IFEFH
(FaTABIET) HXd FT R ? ; 1
What is the maximum qualifying deduction under Sections 80 C, 80 CCC,

and 80 CCD (1) ?

Trytror a9 <1 7 o7 B ? 1
What is meant by ‘Assessment Year’ ?
=1 fren & faw, fw TU w0 W SIS deet w1 e ? 1

What is the deduction in respect of interest on loan taken for higher
education ?

s Frufyared § fed WEd | HR S @ g | i
(%) 5,000 (@) 10,000
() 15,000 (F) 20,000
TDS is not deducted on winning a lottery up to the amount of ¥
(a) 5,000 (b) 10,000
(© 15,000 (d) 20,000
' afs 8 (PAN) 78 ot T, @) R 3 R d T B T R :
(F) 5% (@) 10%
(M)  15% (T)  20%
The rate of TDS on securities if PAN is not furnished, is
(a) 5% (b) 10%
(©) 15% d 20%

3 KB
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AT SRRt <rfrfem, 1961 1 HH-H 91T ¥ (PAN) ¥ Trafag 2 2

(%) 139% (@) 140%

(M) 147% (") 154

Which Section of the Indian Income Tax Act, 1961 deals with PAN ?
(a) 139A (b) 140A

(c) 147 A (d) 154

T ¥ A Hww A, H Rreha ¥ g T o |
(%) TS T A

(@) foom Feet o B

(m  hoad, v

(&) e fig s

Full-fledged GST was recommended by

(a)  Raja Chelliah Committee

(b)  Vijay Kelkar Task Force

(c) GST Council

(d) Manmohan Singh Commission

Sft.ww. . el am R 2

(F) T q1 HvR T & s T g &

(@) fafomn 757 & sifafes ooeq wig 3

(T) HuTE TS % Srfifes Twed W &

(7) wue wra §

Where is GST applicable ?

(a)  All over India except the State of Jammu and Kashmir
(b)  All over India except the State of Sikkim

(¢)  All over India except the State of Meghalaya

(d)  All over India

fomTet 1 ofa = BT 2 2

(%) e (@) @

(m)  foawar (@) I wh
When does a Quarter end ?

(a) March (b)  June

(c) September (d)  All of the above



11, &3l W 39 YIaH H FAT H 2l 8 ? 1
(%) Mgk % T
(@) YRl % TE SEG H Tgad W
() i TR A T
(9) 9§ q P T
When does the liability to pay tax on goods arise ?
(a) At the time of supply
(b) At the time when goods reach supplier
(¢) At the time of preparing invoice
(d)  None of the above

12. S d. oo @ 1

(%) T (PAN) ngmia (@) O s

(1)  3mYR smUTid (g) S | ¥ SR T

GST registration is

(a) PAN based (b)  Passport based

(¢)  Aadhar based (d)  None of the above

e 1T
PART II
arfer o1y Iwda w9
Very Short Answer Type Questions

el utar et & I @ | 2x5=10
Attempt any five questions.
18. ATl o snuryd Fami w w i feoaeft faf | 2

Write a short note on the basic rules for deductions.

14. Shom . & v wren i Qo & =g 729 W T e Hfiftmm
H1 T 22,000 9% g 94T T 1,000 H TE YA T 2017 F TR | I
uﬁwmwwﬁ%wmaﬁm%fm%mwmlmm@ﬁ%m

terg ferae et & fore omer gFm 2 2
Ravi, aged 72 years, paid medical premium of ¥ 22,000 by cheque and
¥ 1,000 by cash during May 2017 under a medical insurance scheme of

GIC. The above sum was paid for insurance of his own health. How much
amount would he be entitled to deduction under Section 80 D ?
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15. AR fafRm, 1961 % et ‘o o gitamsT A |
Define ‘Income’ under Income Tax Act, 1961.
16. aﬁawzﬂaﬁ?ﬁaﬁﬁaﬁaﬁraﬁaﬁwﬁ% ?
What are the due dates for deduction of TDS ?
17. st feed’ o afamer AR |
Define ‘Defective return’.
18.  S.ww.dl. sififem & srmfa Yareil’ w1 e o 72
What is meant by ‘Services’ under the GST Act ?
19. ‘T@STEA. H wham S |
Define ‘SGST’.
T 111
PART III
WY I g9
Short Answer Type Questions
Tordi uter ol % 3o difv |
Attempt any five questions.
20. 0 e v o ) o A ) e 2 0
How is the interest calculated on late filing of return ?
21. ?W%waﬁnﬁ#mﬂawwwﬁmﬁaﬁﬁﬁmm
l
Name the heads under which income of the tax payer is classified.
22. TR fare <t R e A R A |
Discuss tax liability of an ordinary resident.
éq(TAN)w%amagﬁ'—r(PAN)ﬁﬁmmﬁm% ?
What is TAN and how it is different from PAN ?
24. 39917 foget o Afewret ©R o £ | Rl o9 2017 - 18 ¥ VR =1 faspy
(FHAR) = 40,00,000 o1 | 3% = & = 2,60,000 % g &N HT ya
HA | TR AT HF YT % AU Ieerht 2 o
Vipul (aged 39 years) is running a medical store. The turnover of the store
for the financial year 2017 — 18 amounted to & 40,00,000. His accounts
revealed a net profit of 2,60,000. Will he be liable to pay advance tax ?
306 6
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25. SL.TEA. % A=wid HH-H T w1 s o F o # anfiepa foram R 2 3

Which States have been categorized as Special Category States under
GST ?

26. S.E.A. Afufm & srala aegeil’ = wa o R 2 3
What is the meaning of ‘Goods’ under the GST Act ?

@ is
SECTION B

FrauTeres e
Essay Type Questions

fordl uter wwa1 % 3w A | 5x5=25

Attempt any five questions.

27. 1990 ¥ = Afh H WA el Th HyaE, v, 19.02.2015 =i Tl frame 3g
WA F1foE 3T | Wt s srfufiem 3 e sreaml % srger fator o
2017 — 18 % forw s <t faame feufy =1 e | 5

Shama, a non-resident, residing in New York since 1990, came back to
India on 19.02.2015 for permanent settlement. Explain the residential
status of Shama for the Assessment Year 2017 — 18 in accordance with
the various provisions of the Indian Income Tax Act.

28. YW 87% % F=ria e (Fae) @ deiftra yragm! 1 gftams € | 5

Define the provisions relating to rebate under Section 87 A.

29. Torim a¥ 2016 — 17 & forw 429l foam ¥ oot omw qw few 6
ffeRiea SRRt seqa <t R

Tereror iy (3 1)

gET § I 6,50,000
R C R e R 35,000

gfayfd (FRar) 9 W = 15,000

grete wigsy ffYy (f.flws.) @n @ == 30,000

gresites wfesr Ty (f.dus.) @@ & s 50,000
facfta o 2016 — 17 (Fafwr af 2017 — 18) & R ITh = 2a1 Y ToF
FHITT | 5
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Vijaya, aged 42 years, submitted the details of her income and
investment for the financial year 2016 — 17 as under :

Particulars Axggu; ;
Income from Business : 6,50,000
Interest from Fixed deposits with Bank 35,000
Interest from Security deposits 15,000
Interest from Public Provident Fund (PPF) Account 30,000
Deposit in Public Provident Fund (PPF) Account 50,000

Calculate her income tax liability for the financial year 2016 — 17
(Assessment Year 2017 — 18).

20 fewra, 2016 H ferret T g1 A, 459 T JaAh safE ) so B
IS HEHH A T 6,50,000 TR God Hl Th R 9 § & | FOA 0 B W
HE R A @ H T | frow af 2016 - 17 § 3w W ¥ B @
T 8,45,000 oft | 3T F T 1,80,000 F fafte Faw worat grr w=w HY,
YR 80 T % =TI B2 % I Uy § 9o 5 IR, 2017 F 3G 0 =Eey
offmn giferet % fT = 15,000 1 e R | fafor ad 2017 - 18 % R
3! L AT T IR |

A salaried individual, aged 45 years, was awarded a car of market value
¥ 6,50,000 by his credit card company in a draw on 20t December, 2018,
There was no TDS by the company. He has total income from salary of
< 8,45,000 in the previous year 2016 — 17. He saved a total of ¥ 1,80,000
under different investment instruments eligible for exemption under
Section 80 C and ¥ 15,000 was paid by him on 5th J anuary, 2017 towards
his health insurance policy. Find his tax liability for the Assessment Year
2017 - 18.

The it S o6t qaan i T A o T () Ew B |
Draw the format for computing the tax liability of an individual assessee.

v | Sf.em A h ger foRwaret # fad=m Fifvm

Discuss the salient features of GST in India.

ST.TE.E. & FF=ia S5 gl % W % ol qun e i fdem it |
Discuss the advantages and disadvantages of having multiple tax rates
under GST.



